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Kigh  [MRANER 1 1 X | R 3 S40.3.1 993 ZRZH | H18 0.84 H22HREL =R
KiETh  |IMAPNERR 1 2 Z | R | 3 S41.7.1 1,368 —RZW | H18 0.84 H22RIETEE |
KM [IDMDNER 2 1 x| S 3 H21.11.19 41
KEH [N ER 1 6 X | R 3 H7.2.1 627
KiEh | KBE/INFR 5 0 X | R 2 H5.3.1 1,319
KEM |APR/NER 6 0 % | R 2 H5.3.1 653
KiEh | KRBE/INFR 7 0 X | R 2 H5.3.1 2,222
KEH |FEDNER 1 0 % | R | 5 S40.3.1 2,055 —RDW | HI8 0.87 HOI RIS |
RiEW [FIE/NER 2 0 X | S 3 $48.9.1 892 ZRZ H18 0.83 ERAECEES
Kz [FIE/NER 5 0 X | R 2 $57.3.1 713
K |FIE/DER 8 0 % | S 2 H11.12.1 555
XEM |FLBE/NFR 11| 0 % | R | 3 S53.11.1 352 —RZHT | HI8 0.89
KiEM_|[NFDFR 1 1 % | R | 3 S55.3.1 2,528 —RZHr | HI8 0.75
Kz [N ER 1 2 X | S 3 H26.2.20 46
KEM NN 3 0 X | R [ 3 S57.3.1 988
XEM NN 5 0 X | R | 3 $55.3.1 725 ZRZHE | HI8 0.85 H22BRIET S
KiEM |BNINER 12] 0 X | R [ 4 H5.12.1
xEm |FELINER 3 ] 0 % | R | 3 S43.7.1 Z koM | H19 0.83 H22BUE TS %
Kz |[FEILNFER 7 0 X | R 3 $58.3.1
KiEW [BEILNER 8 0 X | R 3 $59.4.1
Kz |[FEILNFR 11 0 X | R 3 H11.9.1
REM |EHFNFR 5 0 X | R | 5 S50.5.1 — R | H17 0.88 HR2BREIE R |
REH |[BEFHNER 0 2 | R 4 S51.4.1 ZRZ H.fﬁ H17 0.84 H22HREL = n
REM |EHFHNFR 0 X | R 4 $59.3.1
REW |BEFHNER 0 X | R 4 S60.4.1
KiEzmh  [BFIL/NER 0 X | R 3 H2.3.1
Kz [EFHIL/NFER 0 X | R 3 H2.3.1
KiEW |[EEFI/NER 1 X | R 4 H2.3.1
Kz |[EFHIL/NFR 2 X | R 3 H4.2.1
KEMH [BHNER 1 % | R | 3 S48.6.1 —R; ,&ﬁ H18 0.83 H22HRELIZR |
XEH |EHDMER 2 % | R | 3 S49.5.1 —RZ H18 0.83 H22RET =R |
KiEm  |BH/NER 3 X | R 3 S49.12.1 —REW | Hi8 0.83 H22BETEF
XEH |EEHDMER 1 % | R | 5 S54.3.1 —RZH | Hi8 0.89 H22REL =R |
i’: T %E/ =25 2 [ & [ R[4 $56.3.1 =Kol | His | 089 | HoRBEIEE

E INFERR 3 X | R 4 H10.11.1
KiEm  |BH/NER 0 X | R 3 H5.8.1
Kz [BH/NER 0 X | R 3 H14.3.1
REM |IARNFR 1 X | R | 5 S55.8.1 ,x?»A H19 0.79 R CEES
REm AR 2 | % | R | 4 $56.8.1 —RSHWT | H19 | 0.79 H22REI R |
KEM |IANER 3 R | R 4 $57.9.1
KiEzm  [IRNER 0 X | R 4 $59.6.1
Rz |IADENER 0 X | R 3 H2.3.1
RiEm_ |{IADENFR 1 X | R | 4 H2.3.1
REH |IADENFER 2 X | R | 3 H2.3.1
KEH |OARDENER 3 X | R [ 3 H2.3.1
REH |IADENFER 4 X | R | 3 H2.3.1
KEH |MADENER 1 X | R [ 3 H7.2.1
REH |IADENER 2 X | R | 3 H7.2.1
KEH |[MADERDER 1 X | R [ 3 H8.2.1
REH |IADER/NFER 2 X | R | 3 H8.2.1
RXEH |[AADERDER 3 X | R | 4 H8.2.1
REH |IADER/NFER 4 X | R 4 H8.2.1
Kzh_ |[ADE s/FRx 0 X | R 3 H19.1
Kz [HEENER 1 X | R 3 $63.7.1
RiEM SN2 2 X | R 3 H1.3.1
Kz  |HEBNER 0 X | R 3 H3.8.1
KT |HEZ/NFR 0 % | R 3 H3.8.1
KiEH |[BEE/NER 1 0 X | R [ 3 S57.3.1
Kz [HEE/NER 2 0 X | R 3 S57.3.1
Kz |[HEE/NER 3 0 X | R [ 4 S57.3.1
KiEMH aﬁﬁn;ﬁ 5 0 X | R 3 $58.3.1
RET AR 3 1 % | R | 4 S46.5.1 ZREH | H14 0.79 H2ARIE L =% |
XEH | BRADER 8 2 % | R | 4 S48.7.1 —RZH | H14 0.79 H2ARIETI SR |
K=t |HRADERR 3] 0 % | R 5 S49.9.1 —RZ H20 0.76 H24REITE=F
RiEM [ FERANMNER 11 0 X | R 4 H17.2.1
KEM |EBINER 1 0 % | R 5 S50.8.1 ZREHR | H1T 0.83 R CEES
KEH |EBDNER 4] 0 % | R | 5 S50.8.1 R | HiT 0.89 H22HRIEI SR |
KEh [EBNER 5 0 X | R 4 $50.8.1 :&@% H17 0.87 H2REIS=F
RET_|EB/IER 6 | 0 | % | R | 5 $50.8.1 —RWT | H17 | 084 AR CEE G
REM |EIBNFER 7 0 X | R [ 4 S54.5.1 ZRZHr | H17 0.76 H2Q2RETEF
P il o Ml o[&]R] 3 $50.8.1 —RZW | H1T 0.75 EER
KiEW [BENER 2 1 X | R 4 $36.2.1 Z R | H18 0.89 H2REIS=F
KEH |EBEDNER 2 2 % | R | 3 S37.4.1 —RZW | H18 0.89 H22HRIETI SR |
Kz |[EENER 2 3 X | R 3 $38.2.1 257] 18 — kW | Hi8 0.89 H22RIETEFK
KEH |EBEDNER 2 4 Z | R | 3 S40.4.1 546 |H —RZW | H18 0.89 H22HRIEI SR |
REH [EENER 2 5 X | R 3 S40.12.1 122] 18 ZREZH | H18 0.89 H22 BT =5
Kz [EENER 2 6 X | S 3 H26.1.24 38| #
REH [EENER 6 0 X | R 3 S42.9.1 2482] 18 ZRZH | H18 0.84 H22HREL =N
KEH |EEDNER 4 | 0 % | R | 3 S475.1 1,079 I8 —RZW | H18 0.85 H22RET =5 |
KoEm_ [ELACE/NFER 1 1 X | R 5 S54.5.1 1,833] 18 —REW | H20 0.76 H22 BT =5
KEH |EBFEDNER 1 2 % | R | 4 S56.3.1 1,035] IH —R2 H20 0.76 H22RET =5 |
KoEm_ |LACENFRR 1 3 X | R 4 S56.11.1 328] 18 —REW | H20 0.76 H22 BT =5
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RET |BENEKR 1 1 X | R 5 S46.6.1 1,325 —RZMr | H19 0.77 H22RIE L= 5
KEH |BEDNER 8 0 Z | R | 2 S495.1 409 —RZH | H19 1.00 HR2RET =5 |
REH |[BENEK 1 3 X | R 4 $53.5.1 352 — 2 | H19 0.77 H22RIET = 5
KEH |BEDNFR 1 4 % | R | 5 S55.3.1 156 Z R | H19 0.77 HR2RET =5 |
REH |[BENFEK 2 1 X | R 3 $46.6.1 1,119 — 2 | H19 0.75 H22RIET = 5
KEH |BEDNER 2 2 Z | R | 3 S55.3.1 177 :Tz&ﬁ H19 0.75 H22RET =5 |
Kz |BE/NFR 2 3 X | R 3 $56.3.1 383 —RZHr | H19 0.75 H22RIET = 5
KEH |BEDNFR 1 7 % | R | 5 S46.8.1 383 —R; ,&ﬁ H19 0.77 HR2RET =R |
XET_|EFINFER 1 1 % | R | 4 S32.8.1 1,123 —R2 H17 0.88 ERAECEES
KiEWm [ EFNEKR 1 2 X | R 3 $34.9.1 545 —_RZ b_kﬁ H17 0.88 EAE RS
REH | EFNEKR 1 3 X | R 3 $36.3.1 566 R H17 0.88 H2 1 RIE T =
KiEH |EF/INER 3 0 % | R 1 S36.3.1 225 ZR2H | HI7 0.85 HORELIZ R |
REH | EFNEKR 1 5 X | R 3 $39.6.1 390 ZREHE | H17 0.88 FRECEES
KiEH |EF/INFER 1 6 % | R 3 S40.4.1 262 & /&ﬁ H17 0.88 HORELIZ R |
Kz | EFENER 8 0 X | R 3 S40.4.1 —RZ H17 0.94 FRECEES
KiEH |EF/INER 9 0 X | R 3 S42.4.1 —RZW | H17 1.03 H2IBIETEE
Kz [EIRDER 9 X | R 3 H20.8.26
Kz [BRIMVER 2 0 X | R 4 S44.4.1 ZREW | Hi8 0.77 H24BIETEE
KiEM_[PRINFR 3 0 X | R 3 S45.6.1 —RZET | Hi8 0.82 |H24-25 B L =5
KiEm  [PRNER 0] 0 X | S 3 H27.1.28
KEH [ THNER 10 [ 1 X | R 3 S45.7.1 :x;; H19 0.75 H23 R L& % |
KiE | FHNER 10| 2 X | R 3 S53.5.1 ZR&2Hr | H19 0.75 H23BIETEF
KEH [ TFHNER 10 [ 3 X | R 3 S475.1 —R2 H.fﬁ H19 0.75 EERECEES
Rzt [FEFNFR 2] o[ &®[R]3 §48.10.1 —RZE | HI9 | 084 H22 SR ETH% |
XEH |3 % 3] 0 % [ R [ 3 S49.6.1 —RZET | HI9 0.87 H22RETE= &
i;“ i % :g g % S 3 S50.4.1 :ﬁzg H19 0.80 szgglg;};
EXid R N 4 S55.8.1 —RZET | H19 0.82 H22RIE L=

RET |/ 1 1 % | R | 3 S435.1 —RZH | H19 0.81 HB&@IE;
REH |BEADER 1 2 % | R | 3 S44.3.1 — R | H19 0.81 H23REL =8 |
KiEm  |REFT/DNER 4 1 X | R 4 S44.9.1 ZRE ,&ﬁ H19 0.81 H23RIETEF
KiEM_|EAR/DNFR 4 2 % | R | 3 S455.1 —R2 H19 0.81 H23RELT=n |
KiEm  |REFT/DNER 4 3 X | R 3 S475.1 — R | H19 0.81 H23RETE=F
KEMH [EFRINFR 2 0 % | R | 2 S44.9.1 — R | H19 1.24 H23REL =R |
KiEm  |REFT/DNER 3 1 X | R 2 S45.5.1 ZREZ2H | H10 0.84 HI2BETE R
REH |BEADER 3 2 % | R | 3 S455.1 — R8T | HO9 0.80 FEEESE
KiEm  |REFT/DNER 8 1 X | R 3 S47.3.1 mzﬁ HO9 0.80 HI0R B LS %
REH |BEADER B 2 % | R | 3 S47.5.1 —R2 HO9 0.80 HIOREL=xR |
RiEM |RERTDNER 12 % | R | 3 H21.3.6
AEh_|2LRIFR 1 1 % | R | 4 S48.3.1 —RZH | HI8 0.83 H22HREL =R |
XEH _|EXTRNFR 1 2 R | R 4 S48.5.1 R | H18 0.83 H22REIS=F
XEH [ELRIMER 6 | O % | R | 5 S48.5.1 &,% H18 0.81 H22REL =R |
KiEW [ELXR/NMER 1 5 X | R 4 S55.5.1 —_RZ H18 0.83 H22RIETEF
XEH |BRERDER 1 0 % | R | 3 S38.8.1 —R2 liﬁ H19 0.88 HR2RET =R |
KEh [BENER 2 0 X | R 4 $38.8.1 —RoWr | H19 0.77 H22RIETEF
XEH |BRERDER 4 0 % | R | 3 S41.4.1 — R | H19 0.77 HR2RET =R |
Kz |BENDER 5 0 X | R 4 H9.11.1
KEH |BREDER 3 0 % | R | 4 S4311.1 — R | H19 0.76 HR2REL =R |
Kz [BL/NER 6 1 X | R 3 $46.3.1 —RSW | Hi8 0.89 HOIREISF
XEH | ALUDNER 6 2 % | R | 4 S46.5.1 — R | HI8 0.89 BAECEES-
KiEW |[ALNER 6 3 %X | R 3 S47.5.1 —R&W | HI8 0.89 HAHREIEF
RET_[AINER 6 | 4 | &% | R | 3 S47.5.1 —RZBr | His | 089 H2I BT =R |
KiEW  [ALNER 6 5 R | S 3 S54.3.1 ZREH | HI8 0.89 HOIREISF
XEH | ALUDNER 8 0 % | R | 3 S52.3.1 —_R ,&ﬁ H18 0.84 BAECEES -
KiEW |[ALNER 9 0 R | S 3 $52.3.1 —RZ H18 0.84 HOIREISF
KiET  [BIL/NER 10 [ 0 X | R 3 [H28.3
REH |BEENFER 11 1 % | R 4 S49.7.1 k?ﬁ\ H20 0.75 EERECEES
XEH | BBDNER 1] 2 % | R | 4 S54.5.1 —R2 H20 0.75 H23RET=x |
Kz |FENER 11 3 R R 5 $55.3.1 :k;; H20 0.75 H23RIETEF
XEH | BBDNER 1] 4 % | R | 4 S56.3.1 — R | H20 0.75 H23RET =1 |
KEh [EENER 19] 0 X | R 4 $56.3.1 ZREOBR | H20 0.76 H23REIS=F
REM [BEE/NER 20| 0 X | R 4 S57.5.1
Kz | KBE/NDER 6 0 X | R 5 H3.3.1
KiEzT [ KBE/NDNER 9 0 X | R 4 H15.11.1
Xzt |HEDFR 3 3 % | R | 3 S48.10.1 —RSWT | H20 0.82 H22HREI =R |
XEH |HENMNER 3 4 % | R | 3 S50.6.1 — R | H20 0.82 HRRET =5 |
XKEw [AENER 12 1 X | R 5 S54.7.1 ZREOBR | H20 0.77 H2REIS=F
XEM |HENFER 12 | 2 % | R | 4 S56.3.1 Z R | H20 0.77 HR2RET =R |
KEH [HENNER 12 [ 3 X | R 4 S57.5.1
Kz [HENMER 12 | 4 X | R 4 S58.4.1
Kz [HENER 16 | 1 X | R 5 $63.3.1
Kz [HENMER 16 | 2 X | R 4 H1.3.1
Kz |HENER 20| 0 X | R 4 H4.3.1
KiEzm [ EHENER 14 ] 0 X | R 2 H26.3
KEzwm [EBHENER 5 0 X | R 2 $39.6.1 ZREBR | H20 0.80 H22RIETEF
KiEm [ LEHENMNER 6 0 % | R 2 S49.11.1 —R&Mr | H20 0.85 =R
KEm_ |[BL/NER 1 0 [ | R | 2 H4.3.1 HBSRETE R
Kz  [FWWDNER 2 1 X | R 2 H4.3.1
Kz | BINER 2 | 2 [ %[ R 2 H26.2
Kz  [FWWDNER 3 1 X | R 4 H4.3.1
Kz | BINER 9 | 0 [ %[ R 3 H7.12.1
Kz  [FWWDNER 0] 0 % | R 3 H15.1.1
Rz | BIINER 1] 0 | & R| 3 H18.2
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XoE  [FEINFR Tt ] o[#&®[]RJ 3 S455.1 754| IBME | ZRE2H | H18 | 0.89 H22RBET =% |
KEM [BE/INER 9 [ 1 % | R | 3 S32.3.1 1,099| [HmE | R | HI8 | 082 H2SET %
REM [HHDFR 9 2 [ ®[RT 2 $60.12.1 5] = ]
2T | BEA/NFR 10 | 1 X | R 3 S43.5.1 882 HmE | =RZHr [ HI8 0.81 H22BIETS=F
Rz [HE/NFR ]2 [&®[RT]3 S44.3.1 536] [Hifita | — %5 [ HI18 | 081 H22RETH % |
2T | BEA/NFR 10 | 3 % | R 3 S45.5.1 263 HmE | =RZ#r [ HI8 0.81 H22BIETS=F
Rz [HE/DNFR ] 1 % | R [ 3 $46.3.1 390[ IHfifeE | =R&SMr [ Hi8 | 082 H22RET= % |
KiEM  |FH/NER 11 2 X | R 3 S46.5.1 592 HmE | =RZHr [ HI8 0.82 H22BIETSEF
Kz |BHE/NFR 11 3 X | R 3 S50.4.1 660] 1BmE | =RZH | HI8 0.82 H22REL =
KiEM  |FH/NER 12 | 1 X | R 3 S475.1 650 1HmE | =RZ#r [ Hi8 0.79 H22BIETSEF
XEM [EHIMFR 12 2 X | R 3 548.8.1 1,039] [HmE [ =XRZ#r [ HI8 0.79 H22RIET =% |
XiEM |MHDNER 15 ] 0 % | R | 3 $54.8.1 288 IHWE | =328 | Hi8 0.82 H22BUE T =%
XEM [BAR/NER 1 1 % | R | 4 $53.7.1 1034 HmE | Z XM | Hi7 0.83 H22RET =% |
KiEM  |FHEE/NER 1 2 X | R 4 $55.3.1 1,339] [HmE | =XRZ#r [ H17 0.83 H22BIETSEE
RiEW [BHR/NER 2 0 X | R 3 $36.5.1 2,020 [HE | ZXZH | H17 0.85 H23RE L =8
KiEM  |FHEE/NER 3 0 X | R 3 $48.6.1 582 HmE | =RZW [ H17 0.90 H23BIETEF
XM [BAR/NFER 4 | 1 % | R [ 3 S49.8.1 1,234] [HmE | Z XM | Hi7 0.83 H22RET =% |
KiEM  |FHEE/NER 4 2 X | R 3 S49.4.1 1,213 [HmE | =XRZ# [ H17 0.83 H23BIETEF
KiET [HEHENER 5] 0 X | S 3 H16.10.1 38| #FiE
KiEM  |FHERE/NER 1 0 X | R 5 $55.3.1 1,756] IHME | =&2# [ H20 0.80 H22BIETEF
XEM _|[BHRDFR 8 0 X | R 3 $55.3.1 496] 1HME | —RZH | H20 0.76 it = T A
A2 |HERNFR 9 o[ &®[RT T S55.3.1 206] IHWtE | —RHT | H20 | 167 i = T
XE [BHARNFR 2 | 1 % | R [ 5 $55.5.1 2,163 IHmE [ — XM [ H20 | 0.76 H22RETER |
RiEM |HERNPR 2 |2 [ &% [R] 4 $55.5.1 837| IAfMHE | —R&DMT | H20 | 076 H22RETHFE |
REWM [BHE/NER 2 3 X | R 4 $56.3.1 663| IBMZE | =&RZH | H20 0.76 H22REIEF
KiEM  |BHEE/NER 10 ] 0 %X | S 4 H25.3 47 BiE
KiEmh  [BEIL/NFER 1 1 X | R 3 H1.2.1 1,977 #Him=
KiEm  |FEIL/NER 1 2 X | R 3 H3.3.1 253| e
KiEmh  [BHEINER 2 0 X | R 4 H1.2.1 813| FhMi=
KiEm  |FEIL/NER 3 0 X | R 3 H1.2.1 2077 FWE
KiEmh  [BAEINER 9 0 X | R 3 H7.3.1 246| Fit=
KiEm  |FEIL/NER 10 ] 0 X | R 3 H7.3.1 34| FiE
KiEmh  [BHEINER 12] 0 X | R 3 H11.11.1 679| Fhii=
KiEM  |FEIL/NER 14 ] 0 X | R 3 H20.3 260] FHME
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